° Equal matrices: two matrices A = [a]m, and B = [ b;;] m x n are equal if

(a) Both have same order

(b) ay=byv iandj
Operations on matrices
. Two matrices can be added or subtracted, if both have same order.
. If A= [a;]m xn @nd B =[byj]m xn . then

AtB=[a;t bijlmxn

° = [Aay}mxn where Ais a scalar \)\(

. Two matrices A and B can be multip%gat\o columns inAlis
equal to number of rows ip. B. NO

IfA = Wﬁ‘ﬂb‘,ﬁ " 2
N\ 5a0k
P( Then AB = [cu? Sy ec*-Zaybj,‘

=

Properties
. If A, B and C are matrices of same order, then
(i) A+B=B+A
(i)  (A+B)+C= A+(B+C)
(i) A+O=O+A=A

(v) A+-A)=0
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x 6 3 - 4] [7 6
a9 "2[7 y—3]"[1 2]':[15 14]

Find the valve of x — y
40. If A and B are skew symmetric matrices of the same order prove that AB +

BA is symmetric matrix.
o p-4q9 pr
41. Without expending prove that |[¢ — p 0 g-r|=0
r-p r—q o
1 21 3!
42, Evaluate| 2| 3| 4|
31 4! 5!

SHORT ANSWER TYPE QUESTIONS (4 MARKS)

uk

z
43. If z
c

R~

< ow

= 0, then prove that—-i-—-l-S ‘ CO :

44. Ifa#b#c,find the m h'satisfi tion
ore¥ENS BLPRN 03(“?@

+b x+

45.  Using properties of determinants, show that

a a+b a+2b
a+2b a a+b
a+b a+2b a

Vi3+V3 2V5 5
Vi5+v26 5 10
3+v65 Vi5 5

=0

46. Find the value of

47. IfA= [12 7] show that 42 — 124 —I = 0. Hence find A™1.

36 [Class XII : Maths]



0 -1 2 40
57. IfA=[ ]andB= 1 3|, then verify that (AB)' = B'A’
4 3 -4 5 i

58. IfA=[2 —Ox]' B=[g (1) and x* = -1

Then show that (A + B)? = A% + B?

0 1 0
59. Provethatal + bA+cA? = A3, ifA= [0 0 1]
a b ¢

cos28 sin28 3
60. Ifa=[ 0 SN27) thenfind 4%,

61. IfAa=
b.

“11], B= [z _11] and (A + B)? = A% + B? + 248, find a \(
\e.CO°
B Thasle § = i ﬁnN&xeeeoé? d c. Such that
o la —b"ﬁL)(f\ O—‘ 2@
@ o ge 33
P(53. IfA = [g ll’].?en prove that A" = [‘:‘ b(ﬁ)]. foralln €N.

N -

ao

1 21 3!
64. IM=‘2| 3! 4|, then find A~! and hence prove that A2 — 44 —5I =
3 41 5!
a+b b+c c+a a b c
65. Find the value of k,if: |b+¢c c+a a+b|=klb ¢ a
c+a a+b b+c c a b
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